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1 i ot zooonttE | 208 | sgen | 150 0° 7. 29.3 a 0.3 a a
T 14.0 30. 4 2 1.3 <1 <1
o ka1 R b ttr | o8 | sgen | 0| 00 2. 24.2 g 2.0 a a
T 1.1 28.0 3 2.0 <1 <1
3| AH R Hb 5 v BB )1 592000m s 3T =8 8H21H i 19.5 0.5 6. 29. 1 2 L1 < <
T 18.5 31.0 4 1.4 <1 <1
4 59 1000m e 3T f’é 8H21H = 8.7 2? 2. ;? 22 2‘? : :
TR TSR E3E 0' 5 30. 2 1 1.1 <1 <1
5 K H 59 1000m e 3T = 8H21H = 10. 4 : 4. : :
T 9.4 31.2 5 2.0 <1 <1
6 /NI 1000m e 3T =8 8H20H i 11.9 0.5 3. 311 3 1.6 <l <l
T 10.9 31.8 4 1.3 <1 <1
7 FH )1 1HK92000m s 3T f’é 8H20H i 16. 7 1(5)3 6. ii? 2 (1)‘3 : :
TR R AR E3E 0' 5 32. 3 <1 0' 2 <1 <1
8 REJI 7K 1000m et 3T = 8H6H = 12. 4 : 8. : :
T 11.4 32.6 1 0.5 <1 <1
9 ) 1400 1000m o 3T 2B oghen | om 0.4 %0 9. 82.3 a 0.3 a a
T 9.4 32.5 <1 0.3 <1 <1
0 T b e K1 1000m o 3T ) gpsp | ow IO - . 82.7 3 L5 a a
T 11.6 33.1 19 5.6 <1 <1
11|78 51137 11 i 1000m o7 ) gpsp | ow IR I 5. 82.9 6 2.8 a a
T 10.5 33.2 7 3.8 <1 <1
12| KA [ ##51000m {3z =8 8H3H i 11.2 0.5 6. 32.7 L 0.7 < <
T 10. 2 33.1 5 2.3 <1 <1
13|V o & T S B HN M9 1500m 3T =8 8H2H i 18. 4 0.5 12. 32.9 < 0.6 < <
T 17.4 33.1 4 1.9 <1 <1
14| i mR Ao doomitE|l— 28| sgon | 6.2 %0 3. 3l.2 L 0.8 < <
T 15.2 33.0 4 2.4 <1 <1
15| g 45 1 40 1000m o 37 ZE ) ghon | om 6o %0 6. 82.4 ! 0.9 a a
Nz 15.9 33.0 2 1.2 <1 <1
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L[ AE A b e ek SIRMIE 9 2000m 5 3T 8H6H 55} 15.0 5 75.7 b <10 <10 -
2142 1Rk TEEAE IR X 15 e 8HG6H 58] 2.1 5 T4. 1|6« 2L b <10 43 43
3| FE R Hh SR BB ##92000m AT 8H21H i 19.5 5 73.7 b7 <10 15 15
4 o . 5 )1 {9 1000mfsH 3T 8H21H & 8.7 5 75.0 w <10 44 44
5 PRI KA 1000m A 32 8A21H E 10. 4 5 4.7 12 <10 18 18
6 JINE I 1000m A3 8H20H i 11.9 5 69. 6 s <10 61 61
7 ; 75 7)1 #92000m ) 30 8A20H 5] 16. 7 5 4.7 1 <10 67 67
8 FELARHAPE LI REJI P49 1000mf< 3T 8H6H & 12. 4 5 72.1 b 17 170 187
9 & )19 1000m A 3T 8HAG6H = 10. 4 5 72.3 b7 19 200 219
10| HETRERT Hb e ik AF N #91000m e} 3T 8H3H 5] 12.6 5 64.3 Tb 18 220 238
L1 [ 51307 11 #6059 1000mf+F 3/ 8H3H| W 11.5 ool W <10 50 50
12| AT O {9 1000m 36 8H3H i3 11.2 5 73.3 Tib <10 26 26
13|V i & T HI SE I B9 1500mfF U0 8A2H fi 18.4 7 4.7 b7 <10 11 11
14|/ 4% 1k PG 5% 2 55 2 D AL K400 m 13T 8H2H & 16. 2 7 41.2| v k- W 28 320 348
15| 8 7 IR 1 P 179 1000m A 3T 8H2H i 16.9 10 70.5 b <10 35 35
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